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>> b=(1:2:10)



c=[1:5;6:10]
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>> a=linspace(1,5,4)

1.0000 2.3333 3.6667 5.0000



a=[linspace(1,5,4);linspace(7,10,4)]
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A=
3 4
AL S
52296
A5S8S
>> A(l)

ans —

N NN O B

N bR g W




A=[3443;4567;5674;4567]

A=
3 4 4 3
405 MO
R o/ !
4 5 6 7
>> A(1,3)

ans —



sl ole yiud

45 vl Read >

3

>> A(2,7)
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>> A(:,1)
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>> A(:;,1)=0
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zeros(d)

>> A
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>> A=magic(d)
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A=rand(5)

A

0.8147
0.9058
0.1270
0.9134
0.6324

0.0975
0.2785
0.5469
0.9575
0.9649

0.1576
0.9706
0.9572
0.4854
0.8003

0.1419
0.4218
0.9157
0.7922
0.9595

0.6557
0.0357
0.8491
0.9340
0.6787
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>> A=randperm(10)
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>> reshape(B,2,8)
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>> size(B)
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>> length(B)
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>> numel (B)
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>> sum(B)
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34 34 34 34

>> sum(ans)
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>> trace(B)
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>> max(B)
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ans —

] 6 2SR
0 11 10 8
OF 0SS GRES?.
0 0 0 1



Q252 B LS
Sl SR R
O ORs )
Ay 1A S

>> tril(B)
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>> [x,y]=sort(B)

4. -2 B3NS
SO/ RSO S
RS IR (R V)
16 14 15 13

[ > NS B OS]
LN S OV
W N




165 2 iis el 3
S ISISEN () .S
Ol T (O UL
44 TASEEor

>> >> det(B)

ans —
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>> S=find (B>15)
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